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Note: Do any 10 out of the 11 questions given.

1. (a) What do accommodation, assimilation and

‘ elaboration mean ? Illustrate the processes
of assimilation, accommodation and
elaboration of a schema in the context of
learning ‘place value’. 7

(b) Explain the process of scaffolding by a
teacher through an example related to
interpretation of data for Class V children. 3

2. (a) What is a regular 2D figure ? Which of the
following are regular 2D figures ?

Squares, isosceles triangle, sphere,
rectangle, equilateral triangle.

Give reasons for your answer. ' 4
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(b)

3. (a)

(b)

(¢

Outline a strategy that a teacher following
the constructivist approach may use for
helping 30 children of Class V understand
what is a regular 2D figure.

What is a pattern ? Illustrate with an
example. Design an outdoor activity to
assess the ability of a child to identify
patterns.

What is algebraic thinking ? Give an
example of a situation where a Class III
child needs to think algebraically.

What is a regular polyhedron ? The
relationship between the number of faces

- (F), the number of vertices (V) and the

number of edges (E) of a regular polyhedron
is given by F — V + E = 4. Is this formula
correct ? Give reasons for your answer with
proper illustration.

4. Give an example each, from the context of
learning mathematics, to Jjustify the statements

given below :

(a)
(b)

(c)
(d)
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Students’ spatial reasoning promotes their
problem solving abilities.

Data can also be in non-numerical form.
Corporal punishment can hamper learning.

Given proper support, children from schools
in rural areas can do as well as those from
any urban schools.
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5. (a) “Children must be given space to make
mistakes, given opportunity to articulate
ideas and formulate problems.” Explain this
statement, and its importance in the
constructivist approach. Your explanation
must include examples pertaining to
geometry. 7

(b) Which of the following statements are not
correct ‘about the banking model of
learning ?

(i) The learner must respond to questions
using her own logic.

(i) Knowledge 1is -best acquired by
memorisation.

(iii) The learners would be able to answer
any question related to the area of
learning.

Explain, giving an example for each of them,
from the area of data handling. 3

6. (a) Let abed represent a 4-digit number,
where a, b, ¢, d are any digits from 0 to 9.
Prove that there are at least two
different 4-digit numbers abed, for which
abed + a + b + ¢ + d = 2014. Was your proof
inductive or deductive ? Give reasons for
your answer. ’ 8

(b) How many %s are there in ilé ? Explain

your answer. 2
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7. (a)

(b)

(c)

8. (a)
(b)
(c)
9. (a)
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Explain the process of ‘abstfacting a
concept’, using a concept related to spatial
understanding. '

What is an algorithm ? Write an algorithm
for finding equivalent fractions.

Why is it important for us to develop the
ability to estimate ? Your answer should
include two distinct examples from spatial
reasoning.

Give two misconceptions about chance that
children usually have. Give one example of
each.

Give two situations in the life of a village
child of Class II that would involve “chance”.

Explain the difference between conceptual
and procedural knowledge, and yet how they
go hand-in-hand. Your explanation should
include examples related to the place value
representation of decimal fractions.

Give three major differences between the
programming and constructivist approaches
to learning. Illustrate them through. an
example pertaining to the learning of
probability.



(b) Which of the following are important
features of constructivist classroom ?

(1) Emphasis on learning over teaching.

(i) Children following well developed
strategies and procedures given by the
teacher.

(ii1) Children thinking and reflecting on
what they are doing.

(iv) Children contributing ideas to the
discussion in the classroom.

Explain, giving an example of each from
addition of fractional numbers. 4

10. (a) What is the difference between mode and
mean of a data ? Explain by giving an .
example of each that is relevant in the
context of Class IV children. 4

(b) How would a constructivist teacher help
Class V/VI children build capability to

estimate numbers ? Explain this by giving
answers to the following questions : 6

(i) What does learning to estimate a
number mean ?

(i1) 'What kind of activities and tasks would
be needed ? Give an example of each.

(iii) What strategy would she use to assess
the students in her class ?

LMT-01 : : 5 P.T.O.



11. (a)

(b)
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Give one example each, with justification, of
a real life situation of a child in which she

would use the following :

(1)  Multiplication of one proper fraction by
another

(ii) Estimating the sum of two fractions

(iii) Division of a decimal fraction by a
number

Represent the data given in the followmg
table by a pie-chart :

Adults in 4 310 l|2li
a school
. less
Weight | an | 60| 62 | 65|70
| in kg) 60

Further, can you obtain the average weight
of the adults in this school from the table

above ? Give reasons for your answer.
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